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Inwqnwth nbnwlwG qub, 207044, Uwndwnhy ; 3USuUUs. 1
UCIGSUNBENIL

3UVUBLEh P3NFILh BLUUNESLENP LUSUPUUL JGPUPGN3UL Lt
( 1/1/2012 6/30/2012p. dwiwbwywhuwnywéh hwdwp)

Swnpbywh hwunwindws wiwl Swpblwi Ganyws wjwh Dwuwnwgh
Suiih © bywinunbuwlGh nnquoh |  Conwittp —wig pdnud”_ COnuwibhp wyg pund Llnwdkip iy pdnud
NN ne NN (u.5+u.6) Juingwljwb dwu| $nlnuyhl dwu (u.8+u.9) JuipswlwG duu | $nbnuwhl dwu (u-11+u.12) | Juwpswlwh dwu| SnGruyhl dwu
1 2 3 4 5 6 [/ 8 9 10 11 12
1000 |CUMWULLC GLUUNFSLGR (wnn 13,4679 13,467.9 0.0 13.467.9 13.467.9 100.0 5,632.7 5,632.7 96.4
1100 + wnnnn 1200+wnn 1300)
wyn pUnd’ :
1. 3UPuLP bd SNHPEEN
1 . . . . i +
100 (i 4110 + wnn 1120 + wnn 1130 + 7100 3,813.0 3,813.0 X 3,813.0 3,813.0 X 878.3 878.3 X
wnnn 1150 + winn 1160) .
wyn pynui’ 11 .
1110 |9nijpuyhG hwplbp whzwpd gnuphg (v 1111 + 7131 3,373.0 3,373.0 X 3,373.0 3,373.0 X 630.2 630.2 X
wnn, 1112) : : - -~ - ; B4
- ugn pynud” .
5 2 . “Qnuypwhwply ; { ; ;
1111 | hisduyGipGbinh dunswlul nwpuwopGEpnLS quBdnn 1,623.0 1,623.0 3 X 1,623.0 1,623.0 X o 101.8 101.8 X
2b0pbiph L 2hGnupnefiGbph hudwn o o : DR : frixee: 5 % .
Innh huipl hwdwyipGhph Jupswlwi nwpwéplEpnud | ! s ! ) : gt -
2 L il iy — § AT 11,7500 1,750.0 5 : 1,750.0 1,750.0 X 5284 528.4 X
1120 || 1:2 Snypuyhl hwplbp wyi qnuphg:-. - 7136 | 2350055 | .. 850.0-- X: 350.0: 1350.0. =X 11868 186.8 7
: .:.__‘5!_:&,: : : TR 2,
2 P o Qnijpwhuply 350.0 350.0 P 4o 350.0 350.0 X 186.8 186.8 v X
thnfuwnpuidhengltiph hwdwp 5 e
4430 |13 UnipwGpGtiph oquugnnédwG Yud gnpémGEnpILl | - 7445 90.0 90.0 S0 whe 90.0 90.0 X 613 61.3 X
waE:EmEanEn pnypnynepjw YSwnlbp ; ] {
wyn pnud’
_ St
1131 |wnippbp ~(winn 1132 + 7145 90.0 90.0 X 90.0 90.0 X 613 643 *
winn 1135 + innn 1136 + wnn 1137 + i 1138 + wnn
1139 + wnn 1140 + unnn 1141 + wing 1142 + innn 1143 +
wyn pnud®
w) Jwdwylph
1132 |inwpwépnud Gnp ZEGptiph, ZhGnupynuGGlph (Gpwejuw ng 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
hhiGwlwi) ZhGwpupnipjwl (inbnwnnpiwi)
pnypunynipjwl hwiwp (nnn 1133 + wnn 1334),
nphg’ :
133 [P il Ao Sinh ol 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
1134 wp) N3 hhoGwlwl phGnipyntGGkph hudwn 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
p) 3wdwylph Yuwps. nwpwépnud 2EGpERR, 2hGnepynib-h,
punwpwzhiwywi wy opjiljn-h Jbpwlwnnigiwa,
nudbnugiwi, Epwlwiqbdwi, wpnhwlwlwgiwl
13 . ! i i 0.0 X
1= whuwinwilipltn (pwgwn. 33 optiGunpLpjwdp .o ¢ o & s o 2 - %
uwhiwijwé” 2hlwpwpnipyub poypuny. swwhwlgynn
nbwpbph) Yuinwpbine paypnynipywi hwdwp




1136

q) Iwiwylph Juwpswlwh tnwpwépnid pkGpkiph,
2hGnipyniGhbiph, pwnwpwzhGwlwh wy opjiywnGhph

1137

pwlniwh pnyjundnepjwl hwdwp

0.0

0.0

0.0

0.0

0.0

) Fwdwylph nwpwépnud nglithg fudhgpGbiph L (Yud)
Sfuwhuninh wpnwnpwiph Jwbwneph, hul hwipwihG
ulilinh opjtlywnbbpnud’ ngbhg fudhsplbiph L (Yud)
Otuwtuninp wpmwnpwiph hpwgdwh pncgodnpjwb
hwdwp

30.0

30.0

30.0

61.3

61.3

1138

&) Jwdwylph nwpwépnuld pwgopjw Ywiwnp
Juwgiwlbpwbine pnyyjundnpjwb hwdwp

0.0

0.0

0.0

0.0

0.0

0.0

1139

q) 3wdwylph wnwpwépnid hbnnily Yunbhph,
nbijubhywlwG hennuyGph, hbnnuywglwéd qugbiph
dwlpwéwfu wnbnph Yewmbpnud htinniy duietihph,
wbulhwywh htnniyGlph, hbnnuywgywé qugbiph
Juwbwnph pnyjjinynipjwl hwiwp

1140

0.0

0.0

0.0

0.0

0.0

0.0

t) Fwidw)Gph nwpwépnid welunph, hwipwihG uGGnh,
quunSwiph, whnuiny uwnbph b hSwlwfuwnbph
Juqiwybpwydwh opjlnbtpp, pwnbhplkpp
(uwniGwbpp), fuwnwnlbpp dwip 24.00-hg hbwnn
w2buwinbi e pnijjindnepjwl hwdwp

0.0

0.0

0.0

0.0

0.0

0.0

1141

n) Iwdwpwnwpwihl YuwinGGEphh hwiwwwnwufuwh
Gplwb pwnuwph b pwnwpwihb hwiwGpGsph
unwpwépntd pOunwih YEGnwhOEp wwhbn
pnujjundnepjwl hwdwn

0.0

0.0

0.0

0.0

0.0

0.0

1142

p) Iwdwybiph tnwpwdpnid wpunwphO gndwan
wbinwnpbijne pouyjundnipjub hwdwp

60.0

60.0

60.0

60.0

0.0

0.0

1143

d) Iwdw)iph wptuhdhg thwumnwpnpbph wwndkish L
GophGwlGbip wpwdwnpbne hwdwp

0.0

0.0

0.0

0.0

0.0

0.0

1144

dw) Jwdwylph nmwpwdpned (pwgwenipjwdp punuwihl
hwiwyGphkph) dwprwwnwp nwpunt (pwgwenipjwdp
Gppninuwihl tnwpuhGbph) dwnwynupynil hpwlwGwglbpne
poyuinynipjwl hwdwp

0.0

0.0

0.0

0.0

0.0

0.0

1145

dp) Pwlywpdbp dhnwnlbphg wwupwumjws hptph
Jwlpwédwhu wonuwwdweph poyndnipjwl hwdwp

0.0

0.0

0.0

0.0

0.0

0.0

1150

1.4 UypwpGbph dwunwlwpwpnidhg b
SwnwynipniGGbph dwwinignuihg wy wwpunwnhp
YSwplbp

7146

0.0

0.0

0.0 ¢

0.0

0.0

0.0

1151

wyn pynud’

Jwdwybph pyniek
Udwnynn wEwnwlwh wnneppbin (wnn 1152 + wnnn 1153
wyn, punu

w)
Pwnwpwghwlwh Ywgnipjwlh wlwnbp gpubgkne, npubg

1152

0.0

0.0

0.0

0.0

0.0

0.0

thrhé-prmupteghfbnhi-bntEuth-dirtrebbbn
pwnuwpwghwlywh Yuwgnipjwl wynbpnud junwpdwé
gnuwnnuiGbpnud thnthnfunupynubbbp, (pugnudbbp,
nunnudlbp Yunwpbpne b yEpwlywiqbiwh
w)wlwGibp nwyne hwdwp

1153

0.0

0.0

0.0

0.0

0.0

0.0

p) bninwpwlwh gpuublywlGbph Ynndhg Gnunwpwlwh
SwnuwynipyntGhbip Yuwunwpbng, Gninwpwlwi Yuwpgny
YJuybpwgywd thwuwnwpnpbiph YpyGophbGwlGbp nwpne,
Gz4wé dwpdhGGbph Ynndhg gnpéwppliph Gwhuwgdtip L
nhinuilbip Yuqdbipng, thwunwpnpbiph wwndbGGbp
hwGbnt L npwbGghg punyuwédplbip nwne hwdwp

0.0

0.0

0.0

0.0

0.0

0.0

1160

1.5 Uy hwpluyhG GYwidnunGbp
wnn 1165)

(winn 1161 +

1161

wyn pyned’

OpkGpny
whbnwlwh pjnigl wipwgpdnn hwplbiphg L wy
wwpuwnhp Ydwplbphg dwuhwGnudlbbp hwdiw)Gpbbph
pnLpkGkip (winn 1162 + winn

7161

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

1162

nphg’ w)
Ghwidwnwhwply

0.0

0.0

0.0

0.0

0.0

0.0




1163

p) Cwhnipwhwpl

0.0

0.0

0.0

1164

q) Opklpny whnwywh pynigbinl wdpwgpdnn wyp
hwpltiphg L wwpwwnhp USwnpbtiphg Yunwpynn
GwuhwbnuiGhpp’ jnupwpwignep tnwpyw
whnwlwh pynigkh dwuhl opilipny uwhdwbynn
sunhbpny

0.0

0.0

0.0

0.0

0.0

1165

3nnh hwplh L gnypwhwplh gony hwdwyGph pynugt
YSwpnuiGbph phwgwywaentd pwgwhwjndwé hwpluyhG
opbGunpnipjwi fuwhinnuiGliph hwdwp hwpywnniltiphg
qudynn winydtip L tninuquiGplbp, npnGp 360
hwzdwplynud wyn hwplybph gnuiwnplbph Ghunduip

0.0

0.0

0.0

0.0

0.0

0.0

1200

2. muGsSnuUyUL AruvucLNPILEN (unn,
1210 + wnn 1220 + wnnn 1230 + nnn, 1240 + winn 1250 +
wnnn 1260)

7300

8,694.9

8,694.9

0.0

8,694.9

8,694.9

0.0

4,347.5

4,347.5

0.0

1210

wyn pynud’
2.1 LOpwghy wpunwphh
wwnnGwlwh npuwdwz6nphlbp” unwgywd wy
GunnipnLGGEphg

7311

0.0

0.0

0.0

0.0

0.0

0.0

1211

wyn pynid’

Jwidw)lph pynLgk
tnunpwigpynn wpnwphb wwznnGwlwh
nnwiwpGnphlbp’ unwgywd w)| whnnipnlbGbph
inbnwlwi hopGwlwewwpiwh dwpdhGitphg pGpwahly

1220

0.0

0.0

0.0

0.0

0.0

0.0

2.2 Ywyhwnw) wpnwphl wwunbwlwh
npwiwzGnphibp” unwgywé w)) whwnnipnilbphg

7312

0.0

0.0

0.0

0.0

0.0

0.0

1221

wyr pyned’ :

Jwiuybph pyniek
dnunpwgnynn wpunwphl wwunnbwlwi
nnwdwyGnphlbp’ uinwgywdé wy| whnnup)nlGGEph
nbnwlwi hGpGwlhwewywpdwl SwpihGGEphg
Ywwhwnwy dwhiubph $hiwluwynpiwb Owwunwlny

1230

0.0

0.0

0.0

0.0

0.0

0.0

2.3 COpwghly wpunwphlG wwwnnlwlwih
npwiwyGnphllp” unwgywé Shpwqquyhl
YuqiwybpwnipynGGbphg

7321

0.0

0.0

0.0

0.0

0.0

0.0

1231

wyn pynd’

Jwdw)bph pjnLpb
dnunpuwgnpynn wpunwphl wwnnGwlwi.
npwiwzinphGbp” unwgywé dhpwqqu)hl
bwadwltpwnipniGGiphg pipwghl Swiuubkph

0.0

0.0

0.0

0.0

0.0

0.0

1240

2.4 Ywuyhwnw| wpnwphl wwunnGwlwh
npwiwyGnphlbip” unwgywé Shpwgqquihl

7322

0.0

0.0

0.0

0.0

0.0

0.0

YwgdwybpwnipnGGEphg

1241

wyn pynLd’

Jwdw)lph pjnipk
dnunpuwgpynn wpunwphl wwpnnGwlwh
npwiwzGnphibp’ unwgdws Shpwaggquhl
wihunwy dwhuubph

1250

0.0

0.0

0.0

0.0

0.0

0.0

2.5 DOpwghy GEpph0 wwpunnGwlwh npwdiwzinphbbp®
unwgywé Yuwnwywpdwl w) SwywpnuyGtphg

(wnn 1251 + winn 1254 + winn 1257 +
wunnn 1258)

7331

8,604.9

8,694.9

8,694.9

8,694.9

4,347.5

43475

1251

nphg’ w)
Mewnwlwh pyniebihg $hiwbuwlywh hwiwhwppbgdwl
ulgpniGpny npwidwnpdnn nnuwghwibp

8,694.9

8,694.9

8,694.9

8,694.9

4,347.5

4,347.5

1254

p) MEnwlwG pynibihg wpwdwnpynn wj nnuwghwlbp

(winn 1255 + wnnn 1256)

0.0

0.0

0.0

0.0

0.0

0.0




1255

wyn} pynud’
pw) Jwdw)Gph pjnepbh GhwdnunbGlipp Gfwqtiglng’ 33
opbGpGbph Yhpwpldwh wpmyniGpnud hwdw)Gph pynigkh
BLwinuinGbph YnpniunGliph whnnupywi Ynndhg
thnfuhwinnigynn gnudwnlbip

0.0

0.0

0.0

0.0

0.0

0.0

1256

pp) wy| pnunwghwibip

0.0

0.0

0.0

0.0

0.0

0.0

1257

q) MEnwlwh pniekihg npwiwnpdnn Guwnwywjhb
hwnlwgnudGbp (unipybilighwibn)

0.0

0.0

0.0

0.0

0.0

0.0

1258

1) 33 wyp hwdwylplbph pjnipkllinhg pOpwghl Swhuubph
PhlwGuwynpiwh Gwwunwlny unwgynn wwzunnbGwlwh
npwiwyGnphGhp

0.0

0.0

0.0

0.0

0.0

0.0

1259

nphg’

Gplwd pwnwph hwiwpwnuipwihb Gwlwlnipywh
Swhuubtph $hiwbuwynpiwb Gywnwyny dlwdnpyws
dhengltiphg

0.0

0.0

0.0

0.0

0.0

0.0

1260

2.6 Ywuwhwwy GEpphl wwunnGwlywl
npwiwGnphlbp’ unwgywé Ywowywpdwl wy
dwlwpnwyGbphg (wnn 1261 + winn 1262)

1261

7332

0.0

0.0

0.0

0.0

0.0

0.0

wyn pynLd’

w) Mbnwlwh
pntebihg Yuwwhwwy swhuubiph Phlwluwdnpdwb
Guywinwiljuhl huwnywgnidGip (unipybGghw(bp)

0.0

0.0

0.0

0.0

0.0

0.0

1262

p) 33 wjy hwiw)Gplphg Ywwhwnw dwhuukiph
$hOwGuwynpiwh Guunwlny unwgynn wwannlwlwh
npwiwyGnphGbp

0.0

0.0

0.0

0.0

0.0

0.0

1263

nphg’

Eplwh pwnwph hwiwpwnwpwjhb Gawhwlynupjwl
Sdwhuubph $hiwbuwynpiwl Gwwnwyny dbwynpywd
dhonglkphg

0.0

0.0

0.0

0.0

0.0

0.0

1300

3. U3L byuunrsuer (wnn 1310
+ nnn 1320 + wnn 1330 + tnnn, 1340 + winn 1350 + winn
1360 + wnn 1370 + wnnn 1380 + wnn, 1390)

7400

960.0

960.0

0.0

960.0

960.0

100.0

406.9

406.9

1310

wyn pyned”

7411

0.0

0.0

0.0

0.0

0.0

0.0

1311

3.1 Snynultp
wyn pynud’ g
OpkGpny
Gwhwinbuywé nhwypbpnud puwGlybpnud hwdw)Gph
pynipbih dwiwbwlyunjnp wquin Shengltiph
wnbnwpwyhuniihg L nkwnghwnlphg unwgywéd

0.0

0.0

0.0

0.0

0.0

0.0

1320

3.2 CwhwpwdhGObp

7412

0.0

0.0

0.0

0.0

0.0

0.0

1321

wyn pynud’

Pwdltinhpwywh phytpnipntGGhpnud hwdw)bph

[OIVTFTVY14 e [018 23 VLU YL MALRH (1100 L6 ] L LULS TR SA18 010 it L

0.0

0.0

0.0

0.0

0.0

0.0

1]
3.3 qnujph Jupdwlwimpjnilhg Gywdnunbbp (wnn
1331 + wnn 1332 + wnnn 1333 + winn 1334)

7415

960.0

960.0

960.0

960.0

406.9

406.9

1331

wyn pYnud’
Jwdwylph
ubithwlywGnipyntG hwiwpdnn honbph dwpdwlw)nipjub

960.0

960.0

960.0

960.0

406.9

406.9

1332

Jwiwylph Jupswlwh wwpwspnud gubynn whnwlywh
ubthwlwinpynild hwiwpynn hnnbph Jupdwlwnipyjwb
Jupdwiddwplbp

0.0

0.0

0.0

0.0

0.0

0.0

1333

Jwiw)Gph Yupswljwlh nwpwépnid gulynn wivnnepjwb
L hwidwyGph ubithwlwinipywbp wwwnlwlnn
hnnuwdwubph Yuwoniguuuwniwh hpwyniGph nhiwg
quiGaynn JuwpdwyGwplbip

0.0

0.0

0.0

0.0

0.0

0.0

1334

Uy gnujph Jwpdwlwinipjnilhg dninpbip

0.0

0.0

0.0

0.0

0.0

0.0

1340

3.4 3wdw)lph pjnugbh blwdnunlbp wwypwipGbph
dwwnwlwpwpnuihg b dwewynipyniGGhph dwwnnignidhg
(winn 1341 + wnn 1342 + wnn 1343)

7421

0.0

0.0

0.0

0.0

0.0

0.0




1341

wyr} pynLd’
Jwdwylph
ubithwlwinipyntl hwinhuwgnn, wyn pyncd’ hpwgneply,
hwiw)Gphl npybu ubithwlwlnipnl wigwé
wwypwlpbbph (pwgwrenepjwdp hhiGwlwb dheng, ng
Gynipwlyw Yud pupdpwpdtip wipmpy hwinhuwgnn,
hGgwbiu Gul hwiw)Gph wwhnwunGbpnud wwhinn
wwnwipwiynupwljwh wpdbplbph) Jwiwnphg dnunpkn

0.0

0.0

0.0

0.0

0.0

0.0

1342

Mbwnnipywh Ynnihg wnbnwlwh hGpGwljwewywpiw
GwpihGaEpP G wwndhpwldws (hwanpaupniGGtph
hpwlwiwgiwd dwhuubkph $hGwluwnpiwh hwdwp
whtnwlwG piniobihg unwgynn dhongltip

0.0

0.0

0.0

0.0

0.0

0.0

OpbiGpny uwhdwGywé nbwpbipnid hwdw)Gpwihl
hhiGwpyGtph Ynnihg wnwlg nbnwlwb wnipph
quiddwh dwwnnigynn dwowynipyniGGbph Yud
Ywwwpynn gopénnnipynillbph nhiwg unwgynn
(quiGdynn) wy yGwplbp

0.0

0.0

0.0

0.0

0.0

0.0

1350

3.5 dwpjwlwh qubdnLdltip
wnnn_1352)

(winn 1351 +

7422

0.0

1351

wyn pynud’
Sknwlwi YySwplbp

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

1352

Jwiw)bph Jupswlywh nwpwépnid hGphwlwd
Ywnnigyws Zkbpkiph, 2hGnipyntGibph ophlwlwiwgdwh
hwiwp Jwplkp

0.0

0.0

0.0

0.0

0.0

0.0

1360

3.6 Unuinplip winuydbiphg, tiniquipbphg  (wnnn 1361
+ wnnn 1362)

7431

0.0

0.0

0.0

0.0

0.0

0.0

1361

wyn pynud’

Jwpswhwl hpwywhiwhinnudGbph hwdwp nbnwlwl
hOpOwlwrwywpdwh SwpdhGobph Ynndhg
EEEE:?E@ESLEEE_H_ dhengltph Yhpwnnuihg
EywinunGbp

0.0

0.0

0.0

0.0

0.0

0.0

Unuinptip hwiiwyGph pynigbih Ghwindwdp unwidbws
wuwyiwGwgpluyhG wwpunwynpnupnibGtph sywnwpdwd
nhiwg man._.._:u wnnijdbphg :

1370

1371

0.0

0.0

0.0

0.0

0.0

0.0

3.7 on_v:._n:__h n3 wwznnGwlywh npwiwGnphlbp
(wnn 1371 + wnn 1372)

7441

0.0

0.0

0.0

0.0

0.0

0.0

wyn pynud’

bhahjulwh whdwig
L YwqiwybpwynupyniGatiph Ghpwpbpnipynihg
hwiw)Gpht, ybpghGhu hpwlw pynigbinughl
hhiGwplyGbph wGophGiwib wigws gnuph (hhibwlwh

Uhong Guid ng GjnLptjul W ZROmTaegrTy

0.0

0.0

0.0

0.0

0.0

0.0

hpwgnudhg L npwiwlwl dhongltiphg plpwahl
Sdwhuubph $hiwbuwynpdwh hwdwp hwiw)lph pynpb
unwgywé dnunpbp’ npudwnpdws wpnwphl
wnpjniplliphg

1372

Dhqhywlwh widwhg L YugqiwybpwnupniGitiph
GyhpwptipnupniGhg hwiwyGphG, Yepghlhu Ghpwlw
pincobitnuyghG hhdGwnplGbph nGophOiwGh wigws gnyph
(hhdGwlwh dheng Ywd ng Gjnpwlwh wiwnhy
shwhnhuwgnn) hpwgntihg L npuidwlwb dhengltinhg
plpwghly dwhuutiph $hlwbuwynpdw hwdwp hwdwGph
pynipb utnwgywé dninpbip’ npwiwnpwé Gepphl
wnpniplbiphg

0.0

0.0

0.0

0.0

0.0

0.0

1380

3.8 Ywuhwuwy ng wwpunnbwlwh npuwdwGnphGbp

(wnn 1381 + wnn 1382)

7442

0.0

0.0

0.0

0.0

0.0

0.0




wyn puned®

Luhpwinynepjw,
dwnwhgnipjwl hpwdnilpny $hahlwlwh widwhghg L
YwqiwybpwnipyntGGbphg hwdw)bph, JepehGhu
LGpwlw pynigbinwghh hhdGwplyGhph wbophGiwhh
P G P i g 0.0 X 0.0 0.0 X 0.0 0.0 X
wlwnhy shwlnhuwgnn) hpwgnuihg L npudwluwb
dhenglbphg Yuwwhunw éwhuubph $hiwluwdnpiwb
hwdwp hwdwGph pjniel unwgywé dnunpbp®
unpwiwnpywd wpnwphb wnpnuplbphg

1381

0.0

Ldhpwwnynipywl, dwnwlgnupjwi hpwynibpny
$hahywlwh widwighg b YuqiwybpwynipynitGlbbphg
hwdwyGphh, ybpghlhu bGpwlw pyniptitnwhl
hhdGwplyGph nGophGiwhh whgwd gnuyph (hhdGwlwh
1382 [dheng Ywd ng Gynupwlwh wywnhy shwhnhuwgnn) 0.0 X 0.0 0.0 X 0.0 0.0 X
hpwgnushg L ApwdwlwG ShengGlinhg Yuhuy
Swhuutph hpwywiwgdwh hwiwp hwdwyGgh pynipk
utnwgywd dnunpbip’ npwdwnpywé Gepphh
wnpniplbiphg

0.0

3.9 Uy, bYwdnuinGbp (wninn 1391 +
1390 innn 1392 + innn 1393) 7452 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0

96.4

wyn pynud’

1391 Swidw)Gph qnijphl 0.0 X 0.0 0.0 X 0.0 0.0 X
wpuinGwnwé YGwubbph thnfuhwnnignuihg dnunpkip

0.0

1392 Jwpswlwh pyncgbh wwhniunwyhb dninhg Inbnwyhl

! i ] 00. 6.4
piniob Yuwnwpdnn hunljwgnudGiphg dnunpbip py A 08 00 X 100.0 9 5

96.4

OpbGpny L hpwdwlwl wy whnbpny vwhiwlyws’
1393  |[hwdwylph pyniebh dninpugpiwi GGpwljw wy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
blwdnunGbip

0.0

*1. 3wdwylph pjnigkih tYwinunGbph Yunwpdwh ybpwpbppwy hwaybngnipjwa.
JwiuwyGplbph pynupbGbph Ywqidwh dwiwbwy Jwpswlwd pnigbh wwhniwwnwhG $nlnhg $nlnwih pynigt huwnlwgnuiGbp Gwuwanbubin nbwpnud 1000-py,  1300-pn L 1390-pn tinntiph 5-pn L 6-pn, 8-pn L 9-pn,
~11-pn L 12-pn uyniGywlyGbipnud Gepwnywé gnigwihzlbph hwipwgniiwplbpp whnp b hwiwwwnwulwiwpwp gbpwquighl Gzdwé wnntph 4-pn, 7-pn, 10-pn unGwliGbpnud Gipwnywé gnLgwlhpGkphG’ 1392-pn

wnnnh 6-pny, 9-pn, 12-py unLGwlGbpnud Gwé gnudwplbiph swdny:

** Lpwgynud t dhuylG SAP-GEph Ynnihg:




